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 Soluţii 
 

1. a) 1, 0a c b= = = ; 0,1∈ . 

b) 1 2 1 2
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. Elementele sunt numere reale. 

c) 1 2 2 1 1 2 2 1

1 2 2 1 1 2 2 1
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( ) 0

a b a b b c b c
AB BA

a b a b b c b c

− + − 
− =  − − + − 

; 

( ) 2
1 2 2 1 1 2 2 1det ( ) 0AB BA a b a b b c b c− = − + − ≥ . 

       2. a) 4 10 2 6 10 2x x x∗ = ⇔ − + = ⇔ = − . 
          b) ( )2 2 , 2x a a x a a x a∗ = ⇔ − = − ∀ ∈ ⇒ = . Legea este comutativă, deci a x x a∗ = ∗ . 

          c) Un element al compunerii este 
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= . Deci 2 2 2x y y∗ ∗ = ∗ = .  
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